A q 57 + 40 = D

4 73 75 76 77

jick look back 6

11 A piece of ribbon was

/5cm long. Paul cut off 23cm.
What length of ribbon was left?

@ ()

/—fbnggest of

"4 Colour the
) these numbers

fo@

12. Circle the digit that

is in the hundreds place. 191

1317417 4+1=18+( -

. erte the mlssmg number

14. | have 1 hundred, 4 tens

and 3 units. | am D

el
5. Write the correct sign

| (<, = or >). % metre Q 50cm

: 15. By how much is 177

greater than 1677

am—

6. How long is the matchstick?

16. Ring the greatest amount.

Q8¢ €109 120c €130

. Joe had 93 marbles. He lost 40.

How much money

had they between them?

. What is the greatest number of

30c oranges Frank could buy
with €1:00? (|

10, tof16=( |

. Paul bought a 40c apple and
a 65¢ pear. What change had

he from €1-20?



What time does this :
clock show?

([ Jpast ()

~Show the time
"110 6 on this

2lock

3. Colour the cone.

@WQ@

4. erte the name of this shape.

ick look back 7

T

1.
: 23+23+1=24+D_1

- I had 95 | bought a ba

Il
Now | have . left. ‘

13,

30 +50=80
- 30=50

14. Write the correct sign (>, < or =).

—kgo kg

9. Write the time
shown on this
clock in
digital form.

10.  Nigella has 25 marbles.
.. She has 11 more than Nigel.

OD

How many marbles has Nigel? :

15. Write the missing
numbers from this
part of the
hundred square.

16. Write the total of this tally.

ukuugugugines

17. June had 80c. She bought a ruler.

She now has 35c.

The ruler cost

N

. 18. Colour the shape that can roll,

D00

19. Tick (V) the time that comes
: first in the day:

4toS[j, 4pastS[]

: How much more does he
: ) need to buy the orange?



